[ The division algortithm for Q[x] in Maple

local q,x,t,1t;

if b=0 then error "division by zero" f£fi;

lt := proc(a) lcoeff (a,x)*x"degree(a,x) end;

r := a;

q := 05

while r <> 0 and degree(r,x) >= degree(b,x) do

t = lt({r) /. 1t (b);
r := r - expand(t*b);
¢ gk £y
od:
return(r, q);
end:
> DIV({ 10*x"2+2*x+1, 5*x-3 );
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[ The natural Euclidean algorithm for Q[x] in Maple.

local g, r,k,monic;
monic := proc(a) if a=0 then 0 else a/lcoeff(a,x) fi;

r[(0] := a;
i) = b3
k. in=

while r(k] <> 0 do
{(r[k+l]l,q) := DIV(r(k-1],x(k]);
k := k+1; print(r[k]);
od;
monic{xr[k-11);
end:
> a :
b :

expand( (13*x04=7T*x*3+12%x+11 ) *(x=2) )3
expand ( (5*x"3-22*x"2+31*x+5) * (x-2));

a=13-33x*+ 143+ 12 -13x-22
b:=5x*-32+75x*-57x-10

f > EA(a,b);
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> DIV := proc(a::polynom(rational, x),b::polynom(rational, x))

> EA := proc(a::polynom(rational, x),b::polynom(rational, x})

end;



